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farder () T UE—9 IF 9R F fvem § 1P, @SR T
(i) W ‘@ T wenfeR ® forv srfvart ?
(i) 9T G 3R T H | BIE TP 9T &A HIAT 2 |
(Gv) e ueq & ft 9N & SR IAUT G99 ar—arer ey |
v) TS U D 3D IHD FHE T T E |
Instructions:
(1)  This question paper contains three Parts : ‘A’, ‘B’ and ‘C’.
(1) Part ‘A’ is compulsory for all candidates.
(iif) Candidates shall attempt only one part of the remaining Parts ‘B’ and ‘C’.
(iv) All parts of a question should be attempted together.
- (v)  Marks for each question are indicated against it.
qN — @ (AETTE)
Part - ‘A’ (Accountancy)

1. ARG AT T JWa H iR ISy | 2
Differentiate between over subscription and under subscription.

2. 3 & BIOT HT FIT I 7 ? 2
What is the meaning of forfeiture of shares ?

3. WA & oI B YHIfdd - dTcl fheal IR geHl &7 AHced P | 2

Name any four factors affecting the value of Goodwill.

4. WEER ® B TR FUH q415Y S AEER] God &) SguRafy # o B &1 2

State any four rules of partnership which apply in the absence of partnership deed.

5 X 3R Y @I YR, S AT aRT§R SUTT H died €, T 20,000 3R T 4,000 HA:
g | Uolt R 5% ufaay =arer far sty 21 ¥ & frsifed smevor 5y 1w

X Y
1 37U, 2012 % 200 : 1 S, 2012 T 100
1 S[F, 2012 T 200 : 1 Ry, 2012 T 200
1 3T, 2012 % 100 : 1 FTGRR, 2012 T 100

SITERYT TR TS bl R 5% TfAaue | Yol Td STeR0 R @71 Hies 9 qd 31 faawr,
2012 B FHIG B9 dTel IY DT o T 12,000 oI |
AM—BI @Tar 9978y | ‘ 3
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The capitals of X and Y, who are sharing profits and losses equally, are ¥ 20,000 and ¥ 4,000
respectively. Interest on capital is allowed at 5% per annum. Drawings during the year were as

follows :
‘ X : Y
1 April, 2012 ¥ 200 i 1 June, 20123 100
1 June, 2012 ¥ 200 : 1 September, 2012 ¥ 200
1 August, 20123 100 . 1 November, 20123 100

The rate of interest an drawings is 5% per annum. Profits for the year ending 31* December,
2012 were T 12,000, before deducting interest on capital and drawing.
Prepare Profit and Loss Accout.

6. ‘A’ fafics @1 afdpa ISl 2 2,00000 & S f T 10 drer 20,000 HHAT 37 H

T 81 397 ¥ 12,000 |HAT 37 ST B FRIAT fBy 70 3R 39 e # 7
2 JAMAEA-TF W, T 4 e W), ¥ 2 YIH Ire R U9 X 2 fgdg vg sifsqq aren
R < | 9 IRMl gy yTe 81 T € |

HN DI Y&IbT H FRIcar gy | 3
The authorised capital of ‘A’ Ltd. is ¥ 2,00,000, which is divided in 20,000 equity shares of
¥ 10 each. Out of these shares, 12,000 equity shares have been issued to the public payable as :
T 2 on application, ¥ 4 on allotment, ¥ 2 on first call and X 2 on second and final call. All the
amounts have been duly received.

Prepare Balance Sheet in the books of company.

7. UP M dod & afed | F=ifed gaamn o< g8 © — 4
(i) 3R Td T @1 & STJAR 2012—13 H U o= 89,000
()  2011—12 § Ui 3RH T 5,000
(i)  2012—13 & 3T H IET T (2011—12 B T 1500 Afed) 12,500
(v)  2013—14 &g 3R # U I=< 3,000
(v)  2012—13 ¥ IufoiRad fd T =< 600
(vi) 142012 B! U FI=< 8,400

31ﬁzo1saﬁﬂmﬁ3ﬁmﬁa&?ﬁmwwaﬁ| 4 4
The following information is obtained from the Secretary of a Golf Club : 4
) Subscriptions received in 2012-13 as per receipt and payment account 89,000
(ii) Advance subscriptions received in 2011-12 5,000
(111) Subscriptions outstanding at the end of 2012-13
(Including X 1500 for 2011-12) 12,500
(iv) Advance subscriptions received for 2013-14 3,000
) Subscriptions written off during 2012-13 600
(vi) Subscriptions receivable on 1.4.2012 8,400

Prepare Subscriptions Account for the year ending 31* March, 2013.

8. IR 3N FBIGR UH BH H WIEIGR B 3R 3 : 2 & U § & Il & €1 @
T P T GEER B BT H 1/4 9N D O AW <7 T 3R SR 98GR BT AT
AT fITST SIUT 2 : 1 BRTT | Sa JRT AJUId B 0T BISTY | 4

Amar and Bahadur are partners in a firm sharing profits in the ratio of 3 : 2. They admitted
Marry as a new partner for 1/4 share. The new profit sharing ratio between Amar and Bahadur
will be 2 : 1. Calculate their sacrificing ratio.
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9. (®) ®U A & WF B BI—db G A= Rt & 2 2
What are the various methods of redeeming of debentures ?

(=) RifbT wos @ v geR 3R @) a97ar Sier & 2 9

How and why sinking fund account is prepared ?

10. A%ﬁé@ﬁf?mms,ooowmemﬁﬁmﬁa?ﬁmwﬁﬁ%ml
% 2 YaET U W, T 3 IMded WR SR A9 W yod uF Afkw urer w2y ¥ 9
IR AT uret &1 T | A B GRAh! § gvasd Ao uifedt Ak 4

A Limited issued 5,000 equity shares of ¥ 10 each at a discount of T 1 per share payable as ¥ 2
on application, ¥ 3 on allotment and the balance on first and final call. All the amounts were
duly received. Pass the necessary journal entries in the books of A Ltd.

1. A o0 9 % 100 aTel 8,000, 5% FUTH 10% 92 W AT fFu 9 R 3 25 wefr
X U9 WY e R 7T | A fofo B et § oete wfifteat g | 4
A Ltd. issued 8,000, 5% debentures of ¥ 100 each at a discount of 10% payable ¥ 25 on
application and the balance on allotment. Pass necessary journal entries in the books of A Ltd.

12 Aaﬁ’\’B,3:2?%3131q|c1fiwwi@v%ﬁﬁfﬁfmﬁ@ﬁﬁm?lﬁcﬁ
A b 1/3 R @ fow AEEry § wdwr 9 ¥ ¢ §h @ forg 2 20,000 @@ £
T DT Hod X 15,000 AT SAT ¥ FfRed Rufal § s iomET
gfafscdl & SRAN
(i) orar geae! # ety @rar e ¥ 1 (i) oRaT gt § @i € 9000 €1 3+3-6
A and B are partners in a firm sharing profits and losses in the ratio of 3 : 2. They admit C into

partnership for 1/3 share in profits. C brings capital of T 20,000. Goodwill is valued at Z 15,000.
Show what entries shall be made in the following cases :

(1) Goodwill does not appear in the books. (i) Goodwill appear in the books at ¥ 9,000
312041 (OR) '

X, Y 3R ZTh BH H4:3:3 D quad § ol &I gied g GEER 9| 99
U X 1,00,000 T FYFT A7 Gifer®t o | afifes Mfms &1 yrar < 1,000 o, @Y
Ry (@wf) A T o)y @ ARy 15 A, 2012 H @ TS| 3W R B
TTferil BT FHAT Hou X 15000 AT | Y B G W YIS UifeR @i s gd
qAT ST Ffaftedt By |

X, Y and Z were partners in a firm sharing profits in the ratio of 4 : 3 : 3. They had a joint life
policy of ¥ 1,00,000. The annual premeium paid was T 1,000 and was considered as an

investment (Asset). Y died on 15" March, 2012. On that date, the surrender value of the policy

was X 15,000. Prepare Joint Life Policy account and pass necessary journal entries on Y’s
death. ;

13. A foIfCs 91 % 10 a1t 1,000 |HAT 379 10% ge W PG f5 | v, s U 100
3§, 98 X 3 A1 I AT BT PAE T B} urar ok S99 39 BT Exor
PR _forar TAT| BT Y MY I e B 2 8 yolew W gAfRife ey fear
32 BT BT AR GAMRTAT BT Y [AorrEr wlifest $ifrg | 6
A Limited issued 1,000 equity shares of ¥ 10 each at a discount of 10%. The final call of ¥ 3
was not paid by Y, who holds 100 shares and his shares were forfeited. Half of the forfeited

shares were reissued at ¥ 8 per share fully paid. Make journal entries for the forefeiture and
reissue of shares.

34T (OR)
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14.

X s @ U 1 &=ad, 2012 BT % 8,00,000 & 5% FOUH &, fTbI YA 31
foqmR, 2012 BT BT o7 | 99 &A1 Rif$T ®vs T 7.49,000 BT o, S & T 1,00,000
& ol o 7=, R T 99 @ alud gou R sy f&ar T o 3fR X 6,60,000, 3%
we # RRERT 2| aiffe feea T 28,400 o | 31 fREwR, 2012 & fAFEMT @ 2
98 & X § G TS R 5% U BT YA FR XA TAT| T 2,400 P dB
I FEE B U T FO A B G B forg o | av 2012 @ forw X ffAcs
B Ibl H MA@ I |

X Limited had ¥ 8,00,000, 5% debentures outstanding as on 1% January, 2012, redeemable on
31% December, 2012. On that day, the sinking fund was ¥ 7,49,000 represented by X 1,00,000
own debentures purchased at the average price of ¥ 99 and X 6,60,000, 3% stock. The annual
instalment was T 28,400. On 31% December 2012, the investment were realised @ 98 per

stock and the 5% debentures were redeemed. Company had bank balance of I 2,400 for
payment of these debentures. Write up necessary accounts in the books of X Ltd. for the year 2012.

APl TS AAIE B IANTH TG WEET BT Al AT 31 fegmN, 2012 BT FHIC

B arer ¥ & forw e far Tar 8
ITTH Z NICE] 3
99 3 A (1.1.2012) 7000 |=dmRl @ folv YT 30,000
T 50,000 | STdeXT B AFRY 10,000
EG] 14,500 | 9d 27,500
T ) & (7% i) 7000 |fafde =g 500
JIRE 2w it 10,000 | SUBRVI BT HY 15,000
IRE M B T 1,000
AY T & T (31.122012) | 4,500
88,500 , 88,500
3faRad e
1.1.2012 31.12.2012
4 <
= e ] 500 1,000
| ¥ U T 1,000 500
AR BT FIh 10,000 15,000
garell @ Sgfiiadiall BT < R 8,000 12,000
SUHRON BT oo 21,000 30,000
9al BT Yoo 40,000 38,000

31 w2012 @7 G BN arel 9§ @ foY oy Ud = Wil AR SIS 6

A summary of receipts and payments of Medical Aid Society for the year ending 31%
December, 2012 is given below :

Receipts < Payments 4

To Balance (1.1.2012) 7,000 | By payments for medicine 30,000
To subscriptions 50,000 | By Honorarium to Doctors 10,000
To Donations 14,500 | By Salaries 27,500
To Interest on Investments @ 7% p.a. 7,000 | By Sundry Expenses 500
To charity show proceeds 10,000 | By Equipments purchased 15,000
By Charity show expenses 1,000

By Balance (31.12.2012) 4,500

88,500 88,500
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Additional Informations :

1120612 31:12.2012
2 4
Subscriptions due 500 1,000
Subscriptions received in advance 1,000 500
Stock of medicines 10,000 15,000
Amount due to Medicine Suppliers 8,000 12,000
Value of equipments 21,000 30,000
Value of Buildings 40,000 : 38,000
Prepare Income and Expenditure Account for the year ending 31* December, 2012.
15. A,Baﬁ?c,4:3:2a%a§mﬁﬁmaﬁqgﬁﬁmﬁﬂmﬂzmﬁgqmﬁl
SDT e st 31 A, 2012 B =R o
goil sk qifa HRTIRT GRS SRR
3 T
GRS 33,000 Thg 10,000
AHE e 27,000 TR 15,000
Uoll @ sfoar 30,000
A % 70,000 ENIER] 50,000
B T 45,000 9 3R 9a+9 1,00,000
C < 30,000 1,45,000
X 2,05,000 T 2,05,000

BH B IR T 40,000 BT HYT

SIa= 44T U R 31 9 2012 D1 S @

AU oA X 13,500 o | B ST Ay ®7 FraferfRad oot uR araerer TEvr ey B
() 9 vd HaT H 20% afgfy @ S R
(i) I &7 qoaiw= T 18,000 fbar ST 2
(iii) wfewer o & forw 5% graens o1 FEfr $er €

(iv) WENRT B 10% & TAT W[ DI 5% ITAfIRad BT |
(v) de =@ & foY 21500 & UEET B aRer e
(vi) B T ¥5,000 e <1 & T AY IR SHD 0T WY F 2ARIRT B 277 |
WWW,WWH%WWWAHWCEWW%@TW

BT |

8

A, B and C are partners sharing prefits and losses in the ratio of 4 : 3 : 2. Their Balance sheet

on 31% March, 2012 is as follows :

Capital and Liabilities Amount Assets Amount
4 4
Creditors 33,000 | Cash 10,000
General Reserve 27,000 | Debtors 15,000
- Capital Accounts : Stock 30,000
A < 70,000 Machinery 50,000
B < 45,000 Land and Buldings 1,00,000
C < 30,000 1,45,000
<. 2,05,000 3 2,05,000
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The Firm has a joint life policy of ¥ 40,000. The surrender value of the policy was ¥

13,500 as on 31* March, 2012. B retires on the above date on the following conditions :

(i) Land and Building be appreciated by 20%.

(i) Goodwill is to be valued at ¥ 18,000.

(iii) A provision for doubtful debts of 5% is to be created.

(iv) Machinery be written down by 10% and stock by 5%.

(v) A provision of ¥ 1,500 be made in respect of legal charges.

(vi) B is to be paid ¥ 5,000 in cash and balance amount be transferred to his loan accout.

*

Prepare Revaluation account, all partners Capital Account and Balance Sheet of A and C.
34T (OR)

A, B3R C Th %9 ¥ AEER & AR Arem §_1E% 37ud § died 2| I 31
AT, 2012 PT BH BT [Jue fhar| 39 dRIE &1 §9 B 1 frger FA=ifdd o

QUG T SISl z
SREAR 60,000 IR Rl 1,00,000
golr z =T, FH il 40,000
A 30,000 AhS 10,000
B 30,000
@ 30,000 90,000
1,50,000 T| 150,000

<
TR P BT ed I 10% HH 9l §U| oFeRI DI IRT GG fhar
AT | FATE T T 500 §U ST Adhar # A fbar | v die i @
forg fraa geadt § P18 sgawn F81 o, } 500 YA B TV | Aags @ g1 |
A, B and C are partners in a firm and share profits and losses equally. They dissolved the firm
on 31* March, 2012. On this date the Balance Sheet of this firm was as under :

Liabilities < Assets 3
Creditors 60,000 Fixed Assest 1,00,000
Capitals : & Current Assest 40,000
A 30,000 Cash 10,000
B 30,000
C 30,000 90,000

(4 1,50,000 e 1,50,000

10% less than book value was realised from assets. Creditors were paid in full. Dissolution
expenses amounted to ¥ 500 which were paid in cash. An amount of ¥ 500 was paid for
contingent liabilities for which no provision was made in the books of accounts.

Prepare necessary accounts. -

qrr — @ (o< faaron &1 fagawo)

Part — ‘B’ (Analysis of Financial Statements)

16. foig faron & <1 IR forRay | 2

Write two limitations of financial statement analysis.
17. U Abg YaTe fdavor @1 8 ? 2

What is a cash flow statement ?
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18. ol wivem @1 () drverear (i) aedr qo i) YU B H9 B AU a7y B
@W’mmwﬁﬁ?m&wmwaﬁwaﬂwmmm
¥ Y, | 3
What ratios would you use to measure (1) profitability (ii) liquidity and (1ii) solvency of a
concern. Give one ratio of each measure and formulae for computing that ratio.

19. TP HH1 B HRIES TS & Refy g 2

AR % 24,500
9% AaRgTE % 10,500
LSIED % 28,000
ISR % 17,500
BEZANETS ¥ 3,500
o], 3TFUTT Ud TReAT U &I 0T B | ' 3
The working capital position of a company is as under :

Creditors g < 24,500
Bank overdraft < 10,500
Stock < 28,000
Debtors < 17,500
Cash 3T 3,500
Compute the current ratio and quick ratio.

20. FIfoiee faRor & o agel s/ @) o e - 4
CASMCED] % 1,00,000
BETEEED] ¥ 20,000
fasha aro=ft 3 7,000
EEICRELN 3 9,000
T fder 3 2,000
S RN TG UTaeT T 1,000
Calculate average collection period from the following :

Total Sales < 1,00,000
Cash Sales < 20,000
Sales returns X 000
Total Debtors T 9,000
Bills receivable L= 2000
Provision for Bad debts T 1,000

21. AfIfACs #1 gt & Ry T Toe aF—3nt &1 aRfY feag L

1.1.2012 BT AR X 35000 |3MYfdeaian HT FTAH | X 2047,000
qTEd! | Uiy ¥ 2783000 | Rer WUyl 2 WaM | ¥ 2,330,000
372l &1 ffee 3 300,000 |SURIIT &G HTaAM ¥ 1,15,000
Rer HuRrdt @1 faswa | ¥ 128000 |daw | T 69,000
IR T 243,000
SATHIET YT ¥ 80,000
d% T BT YA ¥ 250,000
T 32,46,000 T 30,34,000

31.12.2012 BT Y — T 2,112,000
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16.

1z

18.

g

20.

21

Balance as on 1.1.2012 < 35,000 | Payment to suppliers 3 20,47,000
Receipt from customers T 27,83,000 | Payment for fixed assets 3 2,30,000
Issue of shares Z  3,00,000 |Payment for overheads T 1,15,000
| Sale of fixed assets ¥ 1,28,000 | Salaries 3 69,000
Income Tax T 243,000
Dividend paid 4 80,000
Repayment of Bank Loan | ¥  2,50,000
T 32,46,000 T 30,34,000

Balance as on 31.12.2012 - ¥ 2,12,000

31 ﬁwav,zmzaﬁwsﬁmﬁm@aﬁmm:ﬁmmmﬁaww
BT | 6

Following are the summary of each transactions extracted from the books of A Limited :

Prepare the cash flow statement of the company for the period ended 31* December, 2012,

qrr — 1 (Afrefoa dwieA)
Part — ‘C’ (Computerised Accounting)

g § geiic BT HT SN § ? 2
What is the use of Worksheet in accounting ?

S00THOTHO B A FAT § ? 2
What are the advantages of D.B.M.S. ? :

SrEi WiTedaR BT URMPEE aRed <Y | 3
Give an elementary introduction of Accounting Software. '

Tid 3 e 99 B AT Bl FHESy | 3
Explain the process of creating charts in Excel. :
WG%WWHWWH%E%@WH&WﬁWl 3
Give briefly the objectives of grouping and Heirarchy of Accounts.

(EB) QEFaa H Cﬁléfﬂ [ gfae 6R= & Wishar gdisy | 3

Describe the process of entering a formula in Excel.

(@) Waw%mwnﬁm@mﬁmwwaﬁw%@@j@%
HiHen Ry 4

SOT I ARTRI Z 8,000
SOT @ AT 4 9§
Hﬁwﬁ;ﬁaﬁwﬁ % 200
fopedl @1 = 48

Write spreadsheet formula to find out monthly and annual rate of interest on the basis of
following information :

Loan Amount ¥ 8,000
Term of Loan : 4 years
Amount of monthly instalments < 200
Number of instalments 48

sk ok sfe ook sk 3k
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